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Eight persons are sitting around a square table such that four of them sit at the corners 

and rest on the middle of the side. The persons sitting on the corners face opposite 

direction to that of the ones sitting on the middle of the side. The one sitting to the 

immediate left of D does not face outside. E and B are immediate left to each other. C 

faces A. F and D are immediate neighbors of each other. The one sitting 5th to the right 

of the one who is 3rd to the left of A does not sit at the corner. G sits 3rd to the right of 

A. H sits opposite to E.

आठ व्यक्ति एक वर्गाकगर मेज के चगरों ओर इस प्रकगर बैठे हैं क्तक उनमें से चगर कोने पर बैठे हैं और भजुग के

मध्य में आरगम कर रह ेहैं। कोनों पर बैठे व्यक्तियों कग मखु भजुग के मध्य में बैठे व्यक्तियों के क्तवपरीत क्तिशग की 

ओर ह।ै D के ठीक बगयें बैठे व्यक्ति कग मखु बगहर की ओर नहीं ह।ै E और B एक िसूरे के ठीक बगए ंहैं। C कग 

मखु A की ओर ह।ै F और D एक िसूरे के क्तनकटतम पडोसी हैं। A के बगयें से तीसरे स्थगन पर बैठे व्यक्ति के 

िगयें से 5वें स्थगन पर बैठग व्यक्ति कोने पर नहीं बैठग ह।ै G, A के िगयें से तीसरे स्थगन पर बैठग ह।ै H, E के 

क्तवपरीत बैठग ह।ै 
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Eight persons are sitting around a square 

table such that four of them sit at the corners 

and rest on the middle of the side. The 

persons sitting on the corners face opposite 

direction to that of the ones sitting on the 

middle of the side. The one sitting to the 

immediate left of D does not face outside. E 

and B are immediate left to each other. C 

faces A. F and D are immediate neighbors 

of each other. The one sitting 5th to the right 

of the one who is 3rd to the left of A does 

not sit at the corner. G sits 3rd to the right of 

A. H sits opposite to E.
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P # K Y J & A 4 E 7 L O B 3 % C * 6 U M 8 X 0 F 2 H 

How many such consonants are there in the above arrangement each of which is 

immediately preceded by a symbol and immediately followed by a consonants? 

उपरोि व्यवस्थग में ऐसे क्तकतने व्यंजन हैं क्तजनके ठीक पहले एक प्रतीक और ठीक बगि एक व्यंजन ह?ै

a) One 

b) More than three 

c) Two 

d) None of these 

e) Three
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867 375 575 648 938 
If First digit will be interchanged with Second digit in each number, then how many 

number will be the exactly divided by 3 in the above arrangement? 

यक्ति प्रत्येक संख्यग में पहले अंक को िसूरे अंक से बिल क्तियग जगए, तो उपरोि व्यवस्थग में क्तकतनी 

संख्यगए ँ3 से ठीक-ठीक क्तवभगक्तजत होंर्ी?

(a)One

(b)Three 

(c)Four 

(d)Two 

(e)None of these
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If vowels are arranged in alphabetical increasing order from left to right 

and then consonants are arranged in alphabetical increasing order from 

left to right in the given word ‘AJANTAWORK’. Then which letter is 4th 

from the right side in the new word? 

यक्ति क्तिए र्ए शब्ि 'AJANTAWORK' में स्वरों को वर्गानकु्रम में बगए ंसे िगए ंबढ़ते हुए 

क्रम में व्यवक्तस्थत क्तकयग जगतग ह ैऔर क्तिर व्यंजन को बगएं से िगए ंवर्गानकु्रम में बढ़ते हुए क्रम 

में व्यवक्तस्थत क्तकयग जगतग ह।ै तो नए शब्ि में िगयें से चौथग अक्षर कौन सग ह?ै

(a) A

(b) J 

(c) N 

(d) O 

(e) None of these
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If in the word ‘FATHER’ , all Vowels are removed then how 

many such Consonants are there which are immediate followed by 

and immediate preceded by consonants?

यक्ति शब्ि ‘FATHER’ में, सभी स्वरों को हटग क्तियग जगतग ह,ै तो ऐसे क्तकतने 

व्यंजन हैं क्तजनके ठीक बगि और ठीक पहले व्यंजन हैं?

a) 2 

b) 8

c) 7 

d) 6 

e) 5
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E $ 6 U K 7 % * 4 F O @ 2 3 L P 9 8 A # Y 5 W & 1G € ©

Which of the following element will be 6th to the right of the 18th element 

from the right end?

क्तनम्नक्तलक्तखत में से कौन सग तत्व से 18वें तत्व के िगयें अतं से ठठग होर्ग? 

01. L 02. 9

03. # 04. A

05. 2
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E $ 6 U K 7 % * 4 F O @ 2 3 L P 9 8 A # Y 5 W & 1G € ©

How many such symbols are there in the following series which is/are 

followed by vowel and preceded by a consonant?

क्तनम्नक्तलक्तखत श्रखंलग में ऐसे क्तकतने प्रतीक हैं क्तजनके पहले स्वर और बगि एक व्यंजन ह/ैहैं?

01. One 02. Two

03. Three 04. Four

05. None
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Statements : 

Q≥W≥E≥R<T<Y≤U≤I      

Conclusion : 

I: Q≥T 

II: R≤I
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Statements: 

A<S<D=Z<X<C 

Conclusion:

I: A<C 

II: C≥G
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Statements: 

P ≥ R < S ≥ M > E ≥ B 

Conclusions:

I. E < S 

II. B ≤ S

III. M ≥ S 

IV. R = M 
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Statements : 

N ≤ B > D = L, B < M ≤ T 

Conclusions : 

I. N ≤ M 

II.    T > L



IBPS / BANK / LIC / SBI at 9:00 AM

Statement: 

M < Y > N > J = P > C , E > R > N 

Conclusion: 

I. E > M 

II.    C < Y
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In a Certain code MONSTER is written as TFFNTFE ,than find the 

code for HERO ?

एक निनित कोड में MONSTER का कोड TFFNTFE निखा गया है तो HERO

का कोड क्या होगा ?

(1) EFEF

(2) MEFE

(3) REDF

(4) EFEE

(5) None of these
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In a Certain code REASONING is written as 52 ,than find the code for 

ENGLISH ?

एक निनित कोड में REASONING का कोड 52 निखा गया है तो ENGLISH का

कोड क्या होगा ?

(1) 35

(2) 40

(3) 45

(4) 25

(5) None of these
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'we are reaching Bombay’ is written as ‘zik pik lik hik’,  

‘Bombay is really beautiful' is written as ‘hik dik mik nik’,  

‘Is mohan reaching there’ is written as ‘lik tik cik dik’ and 

‘we really need mohan’ is written as 'mik wik tik pik’.

What is the code for ' are ' in the given code language ? 

िी र्ई कूट भगषग में 'are' के क्तलए क्यग कूट ह?ै

(A) only pik (B) only nik 

(C) either zik or pik (D) either zik or tik

(E) None of these
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Statements:

No People are Lazy. 

Only a few Lazy is Man. 

All Man are Jealous. 

Conclusion: 

I. Some Jealous is not People. 

II.All People are Jealous is a 

possibility. 

कथन: 

कोई लोर् आलसी नहीं हैं। 

केवल कुठ लेजी मैन हैं। 

सभी परुुष ईर्षयगाल ुहैं। 

क्तनर्षकषा: 

कुठ ईर्षयगाल ुलोर् नहीं हैं। 

सभी लोर्ों के ईर्षयगाल ुहोने की 

सम्भगवनग ह।ै
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Statements:

No People are Lazy. 

Only a few Lazy is Man. 

All Man are Jealous. 

Conclusion: 

I. Some Jealous is not People. 

II.All People are Jealous is a 

possibility. 
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Statements: 

Some boys are odd. 

All odd are girls. 

No girl is a toy. 

Conclusion: 

I. No toy is an odd. 

II. Some boys are not toys. 

कथन: 

कुठ लड़के क्तवषम हैं। 

सभी ऑड र्र्लसा हैं। 

कोई लड़की क्तखलौनग नहीं ह।ै 

क्तनर्षकषा: 

कोई क्तखलौनग क्तवषम नहीं ह।ै 

कुठ लड़के क्तखलौने नहीं हैं।
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Statements: 

Some boys are odd. 

All odd are girls. 

No girl is a toy. 

Conclusion: 

I. No toy is an odd. 

II. Some boys are not toys. 
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Statements: 

Only a few Umbrella is Kite. 

No Kite is Ice-cream.

Each Ice-cream is Rabbit. 

Conclusion: 

I. Some Rabbit is not Kite. 

II. All Umbrella can be Ice-cream. 

कथन: 

केवल कुठ अबं्रलेग कगइट हैं।

कोई कगइट आइसक्रीम नहीं ह।ै

प्रत्येक आइसक्रीम रैक्तबट ह।ै 

क्तनर्षकषा: 

कुठ रैक्तबट कगइट नहीं हैं। 

सभी ठगतग आइसक्रीम हो सकते हैं।
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Statements: 

Only a few Umbrella is Kite. 

No Kite is Ice-cream.

Each Ice-cream is Rabbit. 

Conclusion: 

I. Some Rabbit is not Kite. 

II. All Umbrella can be Ice-cream. 
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Statement: 

Some subject are class 

Only a few class is notes 

Only few notes are important 

Conclusion: 

I. Some important are not 

class. 

II. Some important are class.

कथन: 

कुठ सब्जेक्ट क्लगस हैं

केवल कुठ क्लगस नोट्स ह ै

केवल कुठ नोट्स महत्वपरू्ा हैं 

क्तनर्षकषा: 

कुठ महत्वपरू्ा क्लगस नहीं हैं. 

कुठ महत्वपरू्ा वर्ा हैं।
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Statement: 

Some subject are class 

Only a few class is notes 

Only few notes are important 

Conclusion: 

I. Some important are not 

class. 

II. Some important are class.



IBPS / BANK / LIC / SBI at 9:00 AM

Statements

Some Cab are not Ola. 

Only few Uber are Cab. 

Some Micro are Ola. 

Conclusion. 

I. Some Cab are Uber.

II. All Micro are cab is a possibility.

कथन 

कुठ कैब ओलग नहीं हैं। 

केवल कुठ उबेर कैब हैं। 

कुठ मगइक्रो ओलग हैं। 

क्तनर्षकषा 

I. कुठ कैब उबेर हैं। 

II. सभी मगइक्रो के कैब होने की 

संभगवनग ह।ै
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Statements

Some Cab are not Ola. 

Only few Uber are Cab. 

Some Micro are Ola. 

Conclusion. 

I. Some Cab are Uber.

II. All Micro are cab is a possibility.
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There are seven members in a family. There is no single parent. 

Priya is the only daughter of Sonu. Moni is grandmother of Chotu. 

Kamal is brother -in-law of Bhola. Sonu is the husband of Moni. 

Anu is the only niece of Bhola.

एक पररवगर में सगत सिस्य हैं। कोई एकल मगतग-क्तपतग नहीं ह।ै क्तप्रयग सोन ूकी 

इकलौती बेटी हैं। मोनी ठोटू की िगिी ह।ै कमल भोलग कग जीजग 

ह।ै सोन,ू मोनी कग पक्तत ह।ै अन ुभोलग की इकलौती भतीजी ह।ै

Q. How many male members in a family ?

एक पररवगर में क्तकतने परुुष सिस्य होते हैं? 

(A) 3  (B) 4   (C) 5  (D) 2 (E) CND
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There are seven members in a family. There is no single parent. 

Priya is the only daughter of Sonu. Moni is grandmother of 

Chotu. Kamal is brother -in-law of Bhola. Sonu is the husband 

of Moni. Anu is the only niece of Bhola.
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There are six persons A, B, C, D, E and F, who sell different quantity of Apple. 

B sells more than F but not more than D sells. A sells more Apple than C and 

E. C sells less Apple than F. F does not sell less than A. B sells 28 Apple and C 

sells 10 Apple. 

ठह व्यक्ति A, B, C, D, E और F हैं, जो अलर्-अलर् मगत्रग में सेब बेचते हैं। B, F से अक्तिक 

बेचतग ह ैलेक्तकन D से अक्तिक नहीं बेचतग ह।ै A, C और E से अक्तिक सबे बेचतग ह।ै C, F से कम 

सेब बेचतग ह।ै F, A से कम नहीं बेचतग ह।ै B 28 सेब बेचतग ह ैऔर C 10 सेब बेचतग ह।ै

If E sells 12 apple, then how many persons are sell more than E? 

यक्ति E 12 सेब बेचतग ह,ै तो क्तकतने व्यक्ति E से अक्तिक बेचते हैं?

(a) 4 (b) 3 (c) 2 (d) 5 (e) CND
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There are 6 persons namely A, B, C, D, E and F. They all are sitting around a circular 

table facing the centre. Each one of them likes a fruit namely, Apple, Banana, Guava, 

Mango, Papaya and Orange but not necessarily in the same order. A likes apples and is 

sitting second to the left of B. The one who likes mango sits between the one who likes 

apple and B. C who likes papaya sits opposite to E. Two persons are sitting between B 

and F. The one who likes guava sits immediately to the left of the one who likes apples. D 

and B do not like mango. D sits second to the right of E and likes orange.

यहगँ 6 व्यक्ति अथगात ्A, B, C, D, E और F हैं। व ेसभी कें द्र की ओर मखु करके एक वरत्तगकगर मजे के चगरों 

ओर बैठे हैं। उनमें स ेप्रत्येक को एक िल अथगात ्सबे, केलग, अमरूि, आम, पपीतग और सतंरग पसिं ह ैलेक्तकन 

आवश्यक नहीं क्तक इसी क्रम में हो। A को सबे पसिं ह ैऔर वह B के बगयें से िसूरे स्थगन पर बैठग ह।ै वह व्यक्ति 

क्तजस ेआम पसिं ह ैवह सबे पसिं करने वगले और B के बीच बैठग ह।ै C क्तजसे पपीतग पसिं ह ैवह E के क्तवपरीत 

बैठग ह।ै B और F के बीच िो व्यक्ति बैठे हैं। क्तजस ेपसिं ह ैवह अमरूि सबे पसिं करने वगले व्यक्ति के ठीक बगई ं

ओर बैठग ह।ै D और B को आम पसिं नहीं ह।ै D, E के िगयें स ेिसूरे स्थगन पर बैठग ह ैऔर नगरंर्ी रंर् पसिं 

करतग ह ै
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There are 6 persons namely A, B, C, D, E and F. They all are sitting around a circular 

table facing the centre. Each one of them likes a fruit namely, Apple, Banana, Guava, 

Mango, Papaya and Orange but not necessarily in the same order. A likes apples and is 

sitting second to the left of B. The one who likes mango sits between the one who likes 

apple and B. C who likes papaya sits opposite to E. Two persons are sitting between B 

and F. The one who likes guava sits immediately to the left of the one who likes apples. D 

and B do not like mango. D sits second to the right of E and likes orange.
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Seven boxes are placed one above another. Each box contains different numbers of flower i.e. 14, 

17, 40, 25, 32, 9 and 16. There are three boxes are placed between box A and the one which contain 

maximum number of flowers. More than four boxes are placed above box C. Box E does not 

contain maximum number of flowers. G contain number of flowers which is perfect square of even 

number. Number of boxes between G and D is half of number of boxes between G and C which 

contain number of flowers which is perfect square of an odd number. Difference between numbers 

of flowers is 5 in box D and F which is placed just below D. Box E placed immediate below B. Box 

A contain 15 flowers more than E. Box B placed below box A.

सगत डब्बे एक िसूरे के ऊपर के क्रम में रख ेहुए हैं. प्रत्येक डब्बे में क्तवक्तभन्न संख्यग में िूल रख ेर्ए हैं अथगात 14, 17, 40, 

25, 32, 9 और 16. डब्बे A और सबसे अक्तिक िूल वगले डब्बे के मध्य तीन डब्बे रख ेर्ए हैं. डब्बे C के ऊपर चगर से 

अक्तिक डब्बे रखे र्ए हैं. डब्बे E में सबसे अक्तिक संख्यग में िूल नहीं हैं. G में िूलों की संख्यग एक सम संख्यग कग परू्ा वर्ा 

ह.ै G और D के मध्य डब्बों की संख्यग G और C के मध्य डब्बों की संख्यग के आिी ह ैक्तजसमें एक क्तवषम संख्यग के परू्ा वर्ा 

की संख्यग में िूल रख ेर्ए हैं. डब्बे D और F में िूलों की संख्यग के मध्य अतंर 5 ह,ै डब्बे F को डब्बे D के ठीक नीचे रखग 

र्यग ह.ै डब्बग E, डब्बे B के तुरंत नीचे रखग र्यग ह.ै डब्बे A में डब्बे E से 15 अक्तिक िूल हैं. डब्बग B, डब्बे A के नीचे 

रखग र्यग ह.ै
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Seven boxes are placed one above another. Each box 

contains different numbers of flower i.e. 14, 17, 40, 

25, 32, 9 and 16. There are three boxes are placed 

between box A and the one which contain maximum 

number of flowers. More than four boxes are placed 

above box C. Box E does not contain maximum 

number of flowers. G contain number of flowers 

which is perfect square of even number. Number of 

boxes between G and D is half of number of boxes 

between G and C which contain number of flowers 

which is perfect square of an odd number. Difference 

between numbers of flowers is 5 in box D and F 

which is placed just below D. Box E placed 

immediate below B. Box A contain 15 flowers more 

than E. Box B placed below box A.
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Seven persons are going on attend dance class on seven 

different days of the week in such a way week starts 

from Monday. Each of them likes different dance 

forms i.e. Kathak, Salsa, Folk, Bharatanatyam, 

Kathakali, Kuchipudi and Hip-hop but not necessary in 

the same order.

P likes kathakali and attends class on Wednesday. One 

person attends class between P and J. The one who 

likes salsa dance attend class on Friday. Two persons 

attend class between the one who likes salsa and the 

one who likes Kathak. More than three persons attend 

class between J and F. G attends class on Sunday. The 

one who likes Kuchipudi dance attends class before the 

one who likes Folk dance and after the one who likes 

hip-hop dance. J does not like hip-hop dance. M attend 

the class before E. L likes Hip-hop dance

सगत व्यक्ति सप्तगह के सगत क्तवक्तभन्न क्तिनों पर डगंस क्लगस में भगर् 

लेते हैं (सप्तगह सोमवगर से आरम्भ होतग ह)ै। उनमें से प्रत्येक 

क्तवक्तभन्न डगंस अथगात ्कथक, सगलसग, िोक, भरतनगट्यम, 

कथकली, कुक्तचपडु़ी और क्तहप-हॉप पसंि करते हैं लेक्तकन 

आवश्यक नहीं क्तक सभी समगन क्रम में हों।

P कथकली पसंि करतग ह ैऔर बिुवगर को क्लगस में भगर् लेतग 

ह।ै P और J के मध्य एक व्यक्ति क्लगस में भगर् लेतग ह।ै सगलसग 

डगंस पसंि करने वगलग व्यक्ति शकु्रवगर को क्लगस में भगर् लेतग

ह।ै सगलसग पसंि करने वगले व्यक्ति और कथक पसंि करने वगले 

व्यक्ति के मध्य िो व्यक्ति क्लगस में भगर् लेते हैं। J और F के 

मध्य तीन से अक्तिक व्यक्ति क्लगस में भगर् लेते हैं। G रक्तववगर को

क्लगस में भगर् लेतग ह।ै कुक्तचपडु़ी डगंस पसंि करने वगलग व्यक्ति, 

िोक डगंस पसंि करने वगले व्यक्ति से पहले और क्तहप-हॉप डगंस 

पसंि करने वगले व्यक्ति के बगि क्लगस में भगर् लेतग ह।ै J क्तहप-

हॉप डगंस पसंि नहीं करतग ह।ै M, E से पहले क्लगस में भगर् 

लेतग ह।ै L क्तहप-हॉप डगंस पसंि करतग ह।ै



IBPS / BANK / LIC / SBI at 9:00 AM

Seven persons are going on attend dance class on seven 

different days of the week in such a way week starts 

from Monday. Each of them likes different dance 

forms i.e. Kathak, Salsa, Folk, Bharatanatyam, 

Kathakali, Kuchipudi and Hip-hop but not necessary in 

the same order.

P likes kathakali and attends class on Wednesday. One 

person attends class between P and J. The one who 

likes salsa dance attend class on Friday. Two persons 

attend class between the one who likes salsa and the 

one who likes Kathak. More than three persons attend 

class between J and F. G attends class on Sunday. The 

one who likes Kuchipudi dance attends class before the 

one who likes Folk dance and after the one who likes 

hip-hop dance. J does not like hip-hop dance. M attend 

the class before E. L likes Hip-hop dance



IBPS / BANK / LIC / SBI at 9:00 AM

6 persons (A to F) are sitting in a triangular table and facing inside the table. Some 

of them are like fruits while some of them are like color. E sits 2nd to the right one 

who sits 3rd to the left of C, who likes Guava. Only 2 persons sit between A and the 

one who likes red color. D sits 2nd to the left of the one who likes white color, who 

sits opposite to the one who likes Apples. The one who likes Banana sits immediate 

right of the one who likes Pink color. F does not like apple.  E likes White color .

6 व्यक्ति (A से F) एक क्तत्रभजुगकगर मेज में बैठे हैं और मेज के अंिर की ओर उन्मखु हैं। उनमें से कुठ िल 

जैसे होते हैं जबक्तक कुठ रंर् जैसे होते हैं। E िगयें से िसूरे स्थगन पर बैठग ह,ै जो C के बगयें से तीसरे स्थगन 

पर बैठग ह,ै क्तजसे अमरुि पसंि ह।ै A और लगल रंर् पसंि करने वगले व्यक्ति के मध्य केवल 2 व्यक्ति बैठे 

हैं। D सिेि रंर् पसंि करने वगले व्यक्ति के बगयें से िसूरे स्थगन पर बैठग ह,ै जो सेब पसंि करने वगले व्यक्ति

के क्तवपरीत बैठग ह।ै वह व्यक्ति क्तजसे केलग पसंि ह ैवह र्लुगबी रंर् पसंि करने वगले व्यक्ति के ठीक िगयें

बैठग ह।ै F को सेब पसंि नहीं ह।ै E को सिेि रंर् पसंि ह।ै
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6 persons (A to F) are sitting in a 

triangular table and facing inside the 

table. Some of them are like fruits while 

some of them are like color. E sits 2nd 

to the right one who sits 3rd to the left of 

C, who likes Guava. Only 2 persons sit 

between A and the one who likes red 

color. D sits 2nd to the left of the one 

who likes white color, who sits opposite 

to the one who likes Apples. The one 

who likes Banana sits immediate right of 

the one who likes Pink color. F does not 

like apple. E likes White color .


